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1. 'WHEST GRS (A) SeAT Jeered Qiole fqum e e
(a) WG AN 1 TS 2016 TSl 5% AN 1] FS 7=
(b) A AHTER IET TiEt YT Tee A ¥ 8,000 faT wed 1.

(c) et wige 3nfYT weer WAl IMg THigR @Y TR Gur € e 91 9 ke
TR

Whﬁ 3?1:1' :
(1) faumd ), (b), (c) TS MR 2) faum (b), () TR IRA
(3) HEe AU (a) TSR 3T () Fdes TaUN () T 3

Consider the following statements about the ‘Pradhan Mantri Matritva (Matru) Vandana
Yojana' :

(a) This scheme was launched by the Central Government on April 1, 2016.

(b)  Under the Scheme government would provide ¥ 8,000 financial aid to pregnant and
lactating mothers.

() It also aims at improving the health of pregnant women and lactating mothers
through cash incentives.

Answer options :
(1) Statements (a), (b), (c) are correct (2) Statements (b), (c) are correct

(3) Only statement {a) is correct {4) Only statement (c) is correct

HeET HINTETS AT /SPACE FOR ROUGH WORK PTO
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2. ‘Fc: wiufoer 2378’ (The Coalition Years) 91 TS e vl 31784 ?
(1) 7o g (2 . faRe
(3) oL e @) e frwme
Who is the author of the book ‘The Coalition Years’ ?

(1) Pranab Mukherjee (2) P. Chidambaram

(3) Dr. Manmohan Singh (4) Kapil Sibbal

3. 2018 = A MLuS. 320 frehe wifen Wargen foemmed wuda sewe @ weifus aen
FEG . AT B THH FEG o 7

(1) USTEE Uao, (2) T~ so=ga dome

(3) =R YW o5 (4) ioEr gL TTEd

Jaydev Unadkat emerged as the most expensive Indian Player in 2018 IPL auction. He is

signed by __
(1) Rajasthan Royals (2) Kings XI Punjab
(3) Chennai Super Kings (4) Kolkata Knight Riders

Tl WA W /SPACE FOR ROUGH WORK
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4, RN VITEATHI, FeT= S, 3TeN Shesdhd giedl A Faet S WSt ${+areeh qUEhR Johald Sroned
v 3T ?

(1) 2. T 98l (2) . fele siei
(3) =T srfeamr fertere (4) Sl WIF HHA

Who among the following is the recipient of the award for research on language in the
name of Dr. Ashok Kelkar, given by the government of Maharashtra ?

(1) Dr. Rangnath Pathare {2)  Dr. Milind Joshi

(3) Dr. Avinash Biniwale "~ (4) Dr. Ashok Kamat

5. YRG SR T4 waedren fafay et g2 et qemmen vkt g wi
TR SR o | 2

(1) WEE - 9fag dteddmien A9 swigswin .30 o1 fam,

(2) I - A IR T YRR S 3T Aasiad geaa,

(3) ThSta® 3edT 2.0 ~ YRAW T fase wgam,

(@) udes it § fafeelst gfawr - aemge anfor gagee w49 gEam.

Following are the different initiatives by Tourism Ministry, Government of India. Which
of them is incorrectly stated ?

(1) PRASAD - free food distribution to visitors at renowned pilgrimage sites.
{2) HRIDAY - preserve, revitalized India’s heritage cities.
(3) Incredible India 2.0 - to promote tourism in India.

{(4) e - ticketing at Tourist sites - started at Taj mahal and Humayun Tomb.

THoAT HETEIST AN /SPACE FOR ROUGH WORK PT.O
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6. FoIH AU A e TEONE S0 faYR e o ?
(a) I AR TN O TASAGI s T,

(b) IFES TN S AT Tedl AT Bld U AT federan fag (swiwe) suftn guu 7nl Agen
fas (faawm).

(c) o TAUSH T F/ IEET =t I AT
(d) ATAREAT A1 TS I WA FiUATE Haew,/ st Tare 3 A,
i 39N

1) (@, (b), () (d) (2)  (a) (), (9)

3y (). (4)  (a), (b)

Which of the following statements about Kailash Mansarovar Yatra are true ?
(a) It has been organised by Ministry of External Affairs.

{b) It has been organised through two different routes Lipulekh Pass (Uttarakhand)
and Nathula Pass (Sikkim).

(c) Foreign Nationals are not eligible to apply for this yatra.

(d) Ministry of External Affairs does not provide any subsidy/financial assistance to
Yatris.

Answer options :
(1) @ () () (d) (2) (@ (b) (0)
(3) (b)) (4)  (a), (b)

7. 3Tl - 5 dolies U] SeqaurE] &THaT fohdt 2me ?

(1) 5,000 - 5,500 .41, (2) 3,500 T
(3) 7,500 fe.m. (4) 10,000 fm.H1.
What is the range of Agni - 5 ballistic missile ?

(1) 5,000 - 5500 km (2) 3,500 km

(3) 7,500 km (4) 10,000 km

el HTHTETS I /SPACE FOR ROUGH WORK
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8. '#MeToo' ¥ Givre fudielie iy wwmelt defuq ome ?
1) SfF SR 3 nfr B
) e, IR ORE TAEWE gEifaee
(3) o fRERmEite safarma Tied | 98
(4) wwER APER
‘#MeToo" campaign on social media is related with
(1) sexual harassment and assault
(2) depression, sucide like psychological issues
(3) privacy issues at social media
(4) voter campaign

9, SS9 oM
e/ et T
(@) vl A (@) T = e
by Foawest () T
(¢) onTE (iiiy AR
(d) TR (iv) i FeT o wimem %y
it 34w

@ () () (d
1) @ @) @
2y @) Gv) G @
3y @ Gv) (u) ()
) 0 (@@ @) ()
Match the following :
Village/ City Project

(a) Pawani Tahsil (i} Nagzira Tiger Project
(b) Chichpalli (i) Gosikhurd
(c) Navegaon (iii) Mazi Metro

_ =
< :
St nggr”

(d) Nagpur
Answer options :

@@ ) (9 (d
O @ v 6O @
2 @ Gv) @) @
G @ v @ (i)
4 @ @ @) (Gv)

Bamboo Research and T raining Centre

FHodl BTG AN /SPACE FOR ROUGH WORK PTO
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10, HEUSE WG Afee AT 2 vgard wd e
(a) TATTE T yHHROTn Y qeg et &
(b) GfaurTen 78T 38, 39, 39-A a:ITFm 42 e A Foal Fevs 79 qen A
() T fauraw 9 wiive W Hegineie afgesn frages v

) =t
gy 3avY
(1) & (a) (2)  (a) = (b) (3)  (b) &fur (o) (4) T (d)

The main function of Maharashtra State Commission for women is
{a) To evaluate the progress of the women empowerment in the state

(b) To implement the Directive Principles of the Constitution mentioned in the article
38, 39, 39-A and 42

{¢) To conduct the elections of the women for the state legislative assembly as well as
local self Government

{d) None of the above
Answer options :

(1) Only {a) (2)  (a) and (b) (3)  (b) and (c) (4)  Only (d)

11. ST ekl I Uhe @R faum SSfaumd ufee ardr wiee gvaren 1 Jea fraie.
WA A A Tt faHH 3efae ?

) fm-21sm@ () fw-7smER (3) gER (4) H-57

Avani Chaturvedi has become the first Indian woman to fly a fighter jet solo. Which
aircraft did she fly ?

(1) Mig-21Bison (2) Mig-27Bison (3) Sukhoi (4) Su-57

THeAT HIWMIS 0T /SPACE FOR ROUGH WORK
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12, aRERiET A0S S AR S T I e T e R ST
F7 WG FIORH Ao T& Feit 3 ?
(1) T <s i A @) T A A
(3)  uWHA AL A (4) 3T T A

Which Yojana has been launched by central government for providing Physical Aids and
Assisted - living Devices to Senjor Citizens belonging to below poverty line category ?

(1) Deen Dayal Vayoshri Yojana (2) Rashtriya Vayoshri Yojana
(3) Pradhanmantri Vayoshri Yojana (4) Atal Vayoshri Yojana

13. ‘7 oS doy’ 91 Hed= IRAEar a8 § e qaifue fiHT welea dsme agewt 15 9
e, TS R HIORAT el FHiF TEH ?

(1) T=wi () (3) WEwe @

According to a report by “‘New world wealth’, Mumbai is among the top 15 richest cities
in the world. Which city follows Mumbai in this report ?

(1) Chicago (2) Toranto (3) Frankfurt (4) Shanghai

14, How Tar TR femar sufu et aresia deamisia WM .8 R. 5 9em e
O e ?

1) aSon (2) H& (3) i (4) sTEHA

Which state has launched KCR Kit Scheme for the welfare of pregnant women and new
born babies in the states ?

(1) Telangana (2) Kerala (3) Haryana (4) Assam

15. T TR radem WAHaR FrEl SR TR B B A3 AR B ?
(1) Yra (2) wfer=m (3) iRy (4) TFETiEE

Human Rights activist, Asma Jehangir recently Passed away, she was a citizen of

(1) India (2) Pakistan (3) Bangladesh (4) Afghanistan

Fol THIHIR AT /SPACE FOR ROUGH WORK
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16.  wers foem wieeg @ v wiidl Afufam 1961 TOR @rfte dre Sea s

(a) Toew oftog siarfa fafay wfte 3 = (i) FOH- 95
(b) TRfaw™ AftmrIRE 9 (i) %o - 78
(c) 9T WiEG! YU o IT-TAwE! A AEHR T S (i) woH - 97
(d) Her wRE Afuert @i wfrwr 3 (iv) w09 -76
it e

(a) (b) () (d)
Q) () @O @ (i)
(2 (9 (@ @) ()
@ @ v @) (@)
(4) (@) @) @) W)

According to Maharashtra Zilla Parishad and Panchayat Samiti Act, 1961. Match the
following pairs :

(a) Various Committecs and Structure in Zilla Parishad (i)  Article - 95
(b) Appointment of Block Development Officer (ii)  Article - 78

{c) Powers and Functions of Panchayat Samiti President (i) Article - 97
and Vice President

(d) Powers and Functions of Chief Executive Officers (iv) Article - 76
Answer options :
(@) () () {d)
1) Gv) @ @) (i)
(2) @Gy (@) vy @
3y (B Gv) @@ (i)
4) (@) @G @ @)

HeAT TS A /SPACE FOR ROUGH WORK
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17. wdeis won faeg aadl gE vmfas % A9 ?
(a) fas
by faaw auftn wevRE, 39F
(c)  FSTH i wTy A TiEm SR T
(d) I HEA
qgrdr 39T
1 () @ @FC@©Q G @O ¢ T
Which of the following subjects are included in the concurrent list ?
(a) Electricty
(b) Marriage and Divorce, adoption
{c) Weights and measures and establishment of its standards
(d) Trade Union
Answer options :
1)y (a) (2) ({(a) ard (¢} (3) (a), (b)and (d) (4} Al of above

18. eSS 3MEFE faum W ,
(a) AT R R § Aumiie g e
(b) T BT F W aiHa W F,
{c) T M I WHATAS Sgaed aHiRe oY 59 gisavaraE sfben
IUAUES HHH TN ASS AT,
(d) 0 SRR weE 1990 96t e,
qaie Fhy _
(1) {a) (). () 2 (b (d) 3 (@ (4} () ©

Find out the incorrect statements :
{a) National Commission for Backward Classes is statatory body.
(v} It works under Home Ministry.

{c) NCBC is not yet been empowered to look into the grievances of persons of other
Backward classes.

(d) It was established in year 1990.

Answer options :

(1) (a) (b}, {0) 2} (b} (d) 3) (o (d) 4) ).

FoEMT FTUIRTS W /SPACE FOR ROUGH WORK PT
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19, G faud foanm wn ;. (59 e Seuld)

(a) T ECUR TSR FH A T AT I IR TR T FIBST USTre
I rEredr stafte =i Jnva s .

(by  Siam Yy e safaite S arers SRNEET! Ay TR st
YT @ YT IR T FE W TE oo TR S =g WWR =y e
WE YR,

(cy rfaftem —aramediyr v e wur =arnedte 3 S 65 5N qof eI @ e U
e T,

Tite fauraiiet som/@ faum/3 atEr sR/q 2

(1) (a) Ha (2} (o v (3)  (a) 3O (b) (4) ), (b) 3O (c)
Constder the following statements : (with reference to High Court)

(a) The President has the power to appoint an additional judge for a temporary period
of not exceeding two years for the clearance of the arrears of the work in a High
Court.

{b) The President can appoint an acting judge when a permanent judge of the High
Court {other than a Chief Justice) is temporarily absent or unable to perform his
duties.

{c) Neither an additional nor acting judge can hold office beyond the age of 65 years.

Which of the statements given above is/are correct ?

(1} {a) only {2) {c)only (3) (a)and (b) (4) (a), (b} and ()

ST SRS W /SPACE FOR ROUGH WORK
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20. WAGIH! H™ FROTRE 9 99 g ifirsafi SRt [STSE - 19 (1)(a)) Tt s
HTe3 Vb ?

(a) “TERATE A

(b) TEHENSR W

(c) TR firsere Heiy

([d) VRGN ENEE q STEEE

(e) TR ey e

'C|'€I'I'€ﬂ‘3ﬁ:l‘:
(1) (a), (), () (e) 2) ) ) ()
3)  (a), () (@) () (@) wowd

The state can impose reasonable restrictions on the freedom of speech and expression
[Article - 19 (1)(a)} on which of the following grounds ?

(a) Contempt of court

{b) Protection of minorities

{c} Friendly relations with foreign states
(d) Sovereignty and integrity of India
(e) becency or morality

Answer options :

1) @), ®) () () (2) (), (), (d)

(G @ © (D (e (4)  All above

AT HEFESE AR /SPACE FOR ROUGH WORK PT.O
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21.

14 A

e faftrigaaea Toets! HIvK faum gwrer o1 7

22,

1) fofurmeamyd vefes smoe fadas vl w3 garsdt seashRaH ' B9 @,

(2) foum tfiea v s & fadas faurmeR w9 0 799 3 faurea= famsh oo
A T I AT,

@) = ot et yefan oio fhar faurmagsgy v <am faum ofrem veiftm s/lie
A fados fauyAady faust o o9a & =6

(4) TRt THE AR _

Which one of the following statements regarding Maharashtra Legislature is incorrect ?

(1) A bill pending in the legislature is not lapscd by reason of prorogation of the houses.

(2)  Abill pending in the Legislative council which has not been passed by the Legislative
Assembly is not lapsed on a dissolution of the Assembly.

(3) A bill pending in the Legislative Assembly or which, having been passed by the
Legislative Assembly is pending in the council is lapsed on a dissolution of the
Assembly,

(4) None of these

e TIfURR T ST 9T S e

(a) Hicil G 1962

() vt (i) 1994

() aArRfen (iii) 1931

(d) =fawr sfEwr (iv) 1955

ot I
(@ G (9 @@

(1 ®  Gv) @)

(2) @) @v) @ (@)

(3 vy @ () @i)

(1) O ) @ (v

Match the pairs of Adult Franchise obtained countries !

(a) Sri Lanka ( 1962

(b) Malaysia (iiy 1994

(©)  Australia (i) 1931

(d} South Africa (iv} 1955

Answer options :

(@) &) (9 (9

M O @ G 6

@ @ o 6 6

@) v O @) G

4)

ORI

HEAT HINTETS I /SPACE FOR ROUGH WORK
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23, CISTET S SE/Sew W

HIHT TR
(a) 343 - Ot Afusa W
(b) 345 - T AEed St 3 e, FER fAeas 3 s SRt qmm
(c) 348 - TREUSTH! HAfUSHd WTHI/IFF I
(d 351 - i e fawa fw
At 3w
O @O.O@d @ O ® @ @ @ o)
Find the incorrectly matched pair/s :
Article Provision
(a) 343 - Official language of the Union
(b) 345 - Language to be used in Supreme Court and High Court and for
Acts, Bills etc.
{c) 348 - Official language/languages of a state
(d) 351 - Directive for development of the Hindi language

Answer options :

1 @ b)) D (2 ®) @ G) @, @ 4) (b)

24, TEATR §4 e afidt devia wiehe faur oum o
(a) i T s aee=n Fragist vgn stavaran sifyear 15T TATen ST,
(b) o QiR e e, T A N goR g wiifee et e e g SE

. _
Tl S faum/ S gaia o ?
(1) " (a) (2) P (b}
(3) ;| (4) Tets! e TR

Consider the following statements regarding the Metropolitan Planning Committee :

(@) The composition and the manner of election of members of such committees are
decided by State Government.

(b) The State Government may make provision about the representation in such
committees of the Central Government, State Government and other organisations.

Which of the above statements is/are incorrect ?
(1) Only (a) (2) Only (b)
(3) Both (4) None of the above

AT TS AW /SPACE FOR ROUGH WORK PT.O
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25, WEOGYE! RO (IR JYTd SRS Sea= S EiE SR ?

(1) foer (2) ifem () Wiy (4) SREN

In which of the following states, seats are reserved for Scheduled Tribes in the Lok

Sabha ?

(1) Bihar (2) Odisha (3) Tamil Nadu (4) Uttar Pradesh
26. HIGIHA T BT

(a) a0 MRS uftg (b) EE HEES

(c) TEf-afdT =R (d) i fare

qaigt 39 ;

(1) @), ). ). b) (2) (). (), (d), (3)

@) (b), (), (@), (d) (4) (b, (@), (c), (d)

Arrange the following in chronological order :
(@) 11" Round Table Conference (b) Nehru Report

() Gandhi - Irwin Pact (d) Communal Award
Answer options :

(1) (@) (). (d). (b) 2) () (©), (d) (a)

(3) B, (o) @) (d) 4) (b, (a) (o) (d)

27. 3.4, 1857 =M SIlAN BH T2 B Wiy e WeyHIdie qEredent e fasmr famari s
F a2

(a) S ) T (0 %X (d) afesdr
qgidr 39T ;

(1)  (a) 301 (b) T+ (2) (b) 3 () ®

(3)  (c) 3T (d) FF 4) (@) (9), (d) F

The Holkars were neutral during the Revolt of 1857, yet their soldiers revolted at which of
the following places ?

(a) Bhopal (b) Mahu (¢) Indore (d) Mahidasi
Answer options :
{1) {(a) and (b) only (2) (b) and (c) only

(3) (c)and (d) only (4) (@) () (&) only

ol SRTHMATSE N /SPACE FOR ROUGH WORK
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3.9, 1920 TE WIARD 990 B4 HIHR WO A AHO FOAN 3T
(1) TS sy (2) T faeam AR

3) fas1 doe (1) TS FHBE

In1920 AD. __ _ was appointed as the first High Commissioner of India.
(I) Edwin Montague (2) Sir William Meyer

(3) Sidney Rowlatt (4) Lord Chelmsford

(1) TvEo (2) Hfvieee (3) WITOR 4) HeE

The farmers froru which district of Bengal had established an organization of Farmers in
1873 ?

(1) Rajmahal (2) Murshidabad (3) Bhagalpur (4) Pabna

" ATTEA U ® IO YT YN T fafer Smerdt Soee B 7

1) IS (2) TEER (3) IR (4) fonsh
Operation Polo was undertaken to merge which of the following states in Indian Union ?
(1) Junagadh (2) Hydrabad (3) Kashmir 4) Limdi
e Fragsfes Fivl g8 w1 8 ?

(a) foraneff (b) FH (c) T

g I

(1) I=HE =/ 2y g fad

(3) fed et (@) W et

Who had started the following periodicals ?

(@) Vidyarthi ~  (b) Congress () Sadhana

Answer options :

(1) Acharya Atre (2) Ramananda Tirtha

(3) Hirve Guruji (4) Sane Guruji

oAl HWTGIE ST /SPACE FOR ROUGH WORK

P.T.O.
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32, el o
(a) Teaway
(b) e
(¢) &M
(d) sioma
LE DI

@ (b
™ G )
(2) (i) ()
(3) (i) (i)
(4) G (@)

Match the following :

(@)
(b)
(©)
(d)

(c)
(i)
(i)
(i)
(iv)

Kichakvadh

Swadeshi

Vang Bhang

Bhimrao

Answer opfions :

(1)

@)
(i)
(i)
i)
i

(b)
(i)

(iv)
(i)

@)

(c)

18

(i) ST TEETH WS
(i) FONSH FARL GIfsHHRT

(iv) TR AR S

(d)
(iv)
(i)
(iv)
()

(i) Ganesh Ballal Fansalkar
(il) Vasudeo Purushottam Sathe
(tiiy Krishnaji Prabhakar Khadilkar

(ivy Laxman Narayan Joshi

(i)

/AT S ST /SPACE FOR ROUGH WORK
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33, WS FITR T HeW High FIF w4 g 5 g ?

(@) U (b) = faym

) & fee (d) Touw, &

g I

(1) (a) F (2) () 3nfor (b)

3 (@) (b) 3T () wI 4 (@, b) (0 (d)

Which of the following honours were Conferred on Maharshi Dhondo Keshav Karve ?
(a) Bharat Ratna (b) Padma Vibhushan

(c) D.Litt. (@ LL.D.

Answer options :

(1) (a) only (@) (a) and (b) only
(3) (a), (b) and (c) only (4)  (a), (b), {c), (d)
34, Sicerqt go uRueEl T afr 12 e o ) e i

(1) HHEUE ST 30 W YR
@) e R afer i SR

(3) TUIHG HoHUIl ST M TS
(4) WSUF ANTS N TERT A

The Kolhapur Praja Parishad was established by the efforts of and

(1) Madhavrao Bagal and Ratnappa Kumbhar
(2) Damodar Bhide and Damodar Joshi
(3) Hanmant Kulkarni and Gangadharrao Deshpande

(4) Khanderao Bagal and Damodar Joshi

oAl wIMETE W /SPACE FOR ROUGH WORK PTO
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35. FUTH JUEL WEGFL T AT e,
(1) = feew (2)  TF. imEe
(3) H.= M (4) T M
Krishnaji Prabhakar Khadilkar became a follower of -
(1) B.G. Tilak (2) G.K. Gokhale
(3) MK Gandhi (4) G.H. Deshmukh
36. foaoopeen s onfy v ai=dlo e e stea.
(1) 2 qHTHE (2) FHEfHATE = faug
(3) e (@) wd faae
The discussion between Vishnubaba Brahmachari and the Missionaries is found in the
book .
(1) Vedoktadharma prakash (2) ‘Samudra Kinaricha Vad Vivad’
(3) Arunoday (4) Dharma Vivechan

37. USHT FAES e e SHEVEE WS gl U Hiiree T godg ke it &
IO ?
(a) WIS HEH1/ FAH

(b) L

() wfRAsT

(d) UwyEAE fowm I gds

it I

(1) (a) ST {c) (2) (b)) T

(3)  (a) 30 (d) Pt @) (2), (b) S (c) B

Yomeshchandra Banarjee, the tirst President of the National Congress stated the objectives
for the establishment of the National Congress, which were they ?

{a) Social Equality/ Uniformity

{(b) National Feeling

{c) Secularism

(d) Development of sense of unity and consolidation of the same
Answer options :

(1) (a) and (c) only (2y (b)and (d) only

(3) (a)and (d) onlv {4) (a), (b) and (¢) only
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38, FowoaE YT HIZHE TUMTET HIORA FIFTH HFI0ATT A ?

(1) 1773 =0 T fw

(3) 1793 & W& HER

(2) 1784 = fozm sfear o

(4) 1813 &1 TG TR

By which law was the Supreme Court of Calcutta established ?

(1) 1773's Regulating Act

(3) 179%'s Legislative Act

(2) 1784's Pits India Act
{4) 1813s Legislative Act

39, WSS HIURT SET qET AR 7

(1) == -
(2) TA. e
3) e e
(2) Teuee fa=n -

=< TR 37 sredl

TS AT feam TyHersm

Wierd 3fg widifeam aifw fafeer 3 $fear 1885 - 89
fafew v 33 ¥fem

Which of the following pairs is correct ?

(1) Bagachi -
(2) S. Gopal -
(3)  Anil Seal -

(4) Hiralal Sinha

Private Investiment in India
Emergency of Indian Nationalism
Problems and Politics of British in India 1885 - 89

British Policy in India

40. ‘== StER’ € giwe Hon fofed ?

(1) == AR (2 THfsEd S
(3) TS faeie (4) wfdgTy o=
Who wrate the Booklet “Bandi Jiven” ?

(1) Chandrashekhar Azad (2) Rasbihari Bose

(3) Ramprasad Bismil

{4) Sachindranath Sanyal

oAl HFEE ST /SPACE FOR ROUGH WORK
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41, YR THEY Hrifew &= fad o ?
(1)  200.60 @ BFX (2) 207.60 TG TFL -

(3) 307.70 oM@ BT (4) 318.60 TE BIH

What is total Geographical area of Maharashtra ?

(1) 200.60 Lakh hectare (2) 207.60 Lakh hectare
(3) 307.70 Lakh hectare (4) 318.60 Lakh hectare
42. HIFN TS Hog o HEAM S Fa fedt 3 w4 7.
(1) 513 (2) 213 (3) 102 (4) 302
Because of Kokan Railway the distance between Mumbai to Kochin is reduced by
km.
(1) 513 (2) 213 (3) 102 (4) 302

43, WHGIH! H TS TEd TRt G T ?
(1) o (2) w=U (3) #iv[ (4) W

Which of the following river is not a part of Godavari basin ?

(1) Terna (2) Pravara (3) Manjra {4) Bhatsa
44, T TS T8 S5t 3.
1) g (2) =R (3) wied (4) FotR @

is major port of Gujarat State.

(1) Kandla (2) Kochi (3) Mandvi (4) None of the above
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45. fes o foeowemE _  a ovit Hi] ok o
(1) s IO (2) S
(3) TrdeEr ot @) e oot

is recorded in world heritage site.
(1) Ajanta caves (?) Karle caves

(3) Pitalkhora caves {4) Bedsa caves

46. TATUH! RV TG qod T ST 31e ?

(1) ¥R (2) R
(3) = W (4) TR@

Which of the following states has high tank irrigation 7

(1) Andhra Pradesh (2) Maharashtra

(3) Madhya Pradesh (4) Gujarat

47, Tifam, R, viee a1 ST FEE GeGie! e Sl feRna sgesdrd 2

(1) 3 (2) Toen (B) 4@ 4) o

Gomit, Pardhi, Bhill these Scheduled tribes are mainly found in which of the following
district 7

(1) Akola (2) Buldhana (3) Dhule (4) Thane

HeAl TS 9 /SPACE FOR ROUGH WORK PT.O
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48. 2011 =1 SOHTHR ST A FFFEn TR fyeuw waifus see.
(1) e (2) e ¢ ™ (4) eI
As per consus 2011 _____ __ district has highest population of schedule cast in
Maharashtra.
(1) Nasik (2)  Aurangabad (3) Pune {(4) Solapur

{1) 1950 - 1955 (2) 1941 - 1946 (3) 1951 - 1956 4y 1961 - 1966
Indias First Five Year Plan

(1) 1950 - 1955 (2) 1941 - 1946 (3) 1951 - 1956 (4) 1961 - 1966

50. WRITETE W ASfAHSH HIOA ?
(1) w&nfz ved (2) WYl 9Ed
(3) Trait gaa (4) 3T TEd

What is the main water divider of Maharashtra ?

(1) Sahyadri Mountain {2) Satpuda Mountain
(3)  Nilgiri Mountain (4) Aravali Mountain
51. UIRIES qfgd STwEl _ A EE! 9.
(1) g 2y ¥a (3) qftf (4) TG

The first nuclear reactor in Maharashtra is known as

(1) Cyrus {2) Dhruva {3) Purnima {(4) Apsara

TS HIATATS AT /SPACE FOR ROUGH WORK
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52. el oET
foe=t ARl
(@) 7i<E (i AT
(b) SN () WA
() TR (i) SACEE
(d) FTFTHIS (iv) HUHR
it 39T ;

(@ M)y (¢ (d)
1 @ @ @ ()
2 @v) @) @ @
@ @ @ (v) (i)
() @ (@ (@v) (i)
Match the following :

District Taluka
(a) Nanded (i}  Bhokar
(b} Jalna (i) Bhokardan
(¢) Buldhana (i) Umerkhed
{(d) Yavatmal (iv) Sangrampur

Answer options :

@@ () () (d
(1) @@ @ @) ()
@ () @@ () ()
@) @ (@ (v) (i)
G @O @ @Gv) ()

53, WENIRM SOME 9 918 SR a1,
(1) ¥=UGEd & e (2) e § W
@) féie g afim (4) TETHIE § TR
The dolomite deposits are in districts of Maharashtra.
(1) Amravati and Akola (2) Nanded and Parbhani
(3) Hingoli and Washim (4) Yavatmal and Ratnagiri
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54. _ % W wEen wizT e o
(1) TR 2 o= (3) THygr (4) Tenim
. __is the first Tourism district in Maharashira,
(1) Kolhapur (2) Nashik (3) Sindhudurg (4) Ratnagiri .

55. e R ST Wieieiw! v faeaieh e s ?
(a) o, T, Sy, e
(b) e, A, |, FiE, de, iR, e
(¢) SRR, ST, SEATETR, IR, fEiie, Saerm

g I
(1) R faur (o) S TR, (2) e AR (b) IS IR,
(3) e faUF (¢) IR TR, 4) o wE AR 3% .

To which of the following district boundaries are connected to Jalna district ?
{(a) Buldhana, Parbhani, Beed, Aurangabad

(b) Buldhana, Washim, Parbhani, Nanded, Beed, Aurangabad, Jalgaon

(c) Aurangabad, Jalgaon, Usmanabad, Parbhani, Hingoli, Buldhana

Answer options :

(1)  Only statement (a) is correct (2) Only statement (b) is correct
(3) Only statement (c) is correct (4) Al the above statements are wrong
56, 1950-51 U 2013-14 W A THY W@ SWTd OeAT Ul &= A Wt
Ehica
1) fex (2) w (3) e (4) W™
Since 1950-51 to 2013-14 the share of agriculture sector in total gross domestic product
indicating _ trends.
(1) Stable (2) Declining (3) Increasing (4) Neutral
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57. e TeAHe Fih fammer Toe 87 MRad Jokds o 3.
(a) I onfn i whman v
(b) = Imfor @i Wt
(c) IS IJAM
(d) AT, FovdRd, THeT
FISHH! FHR faur Se ) o ?
(1) T (a) (2)  (a) 3 (b)
(3) W (d) (4) (o) 3o (d)
Konkan division of Maharashtra has a sustainable comparative advantage in the following
sectors. )
(@) Agriculture and Agro Processing Industries
(b) Forests and Mineral Wealth
(¢) Textile Industry
(d) Fisheries, horticulture, tourism
Which of the above statement is/are true ?
(1) Only (a) (2) (a) and (b)
(3) Only (d) (4) (9 and (d)
58.

HERY YA 2013 St I sigare TR AfEdi1or, Teade Teie qurs TRl Y=
anfeardt T’ WA MOl FH IR, .

() P (b) wifem e () Fom d) ice
WEGYH! TF Taig SE 3R,
(1) (a), (b) 37T (<) (2) T (a) S (b)
(3) T (b) MM (c) (4) B (d)

According the Government of Maharashtra 2013 Kelkar Committee Report Publication,
following communities from Maharashtra are enumerated as Primitive Tribal Groups.

(a) Katkaris (b) Madia Gonds (c) Kolams (d) Bhils
One of the following alternatives is correct.

(1) (a), (b) and () (2)  Only (a) and (b)

(3)  Only (b) and (c) (4) Only (d)

oAl IS ART /SPACE FOR ROUGH WORK
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59.

28
Sl el
qrat - 1 qret - 11
( TrereRrera s ) ( 2SS TARIT HTA (2018-19)
ThHes SAATAT THFHARITEN )
(a) TTHHE T @ 12.1
(b) TS T Gi) 48.8
(c) o ST TEY gFHSIH Qo (i) 2.2
(d) TS TP STARATAT TS T HEGD FHTl (iv) 3.3
it sy
@ () () (d)
1 @ @ @) @Gv)
@ () @ Qv (i)
3 v Gy @ )
(4) () Gv) @) (@)
Match the following :
List - I List - II

(Fiscal Indicators)

(a) Fiscal Deficit

(b)
(©
(d)

Revenue Deficit

Total Outstanding Liabilities

Gross Tax Revenue as percentage of GDP

Answer options :

(1)
(2)
(3)
(4)

@
0

(i
()
)

®)
i)
0
(i
(

iv)

)
i)
@)
i
0

@
@)
i
0

i

(Budget Estimates (2018-19)
as % of GDP)

(B

(1)
(i)
(iv)

12.1

48.8
2.2

3.3
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60. TERTY JTHTAT 2016-17 =1 HTTARIA AR T ThT=A wegends, fafay meqs
Har=ar TETaR, fafay Teqe Saien g aein F9 Geiedh! S R 2

(a) T IR Yoeh, faehl Y, 300 W

(b) SIS T 30T Yook, T IR Yooh, Te

(c) Taspl o, foEm anfon Fieoi yoo, T IR U

(@) Terees amfin vl Yook, TF IRA Yooh, T

el S faum/ faum ster @R ?

(1) = (b) (2) ®H () (3) () snfEr(d) (4) I (d)

According to the Maharashtra Government’s Budget Estimate for 2016-17, which of the
following is the correct sequence of the relative shares of revenue sources as per their
importance in the total revenue ?

(a) State Excise Duties, Sales Tax, Other Taxes

(b) Tax and Duties on Electricity, State Excise Duties, Tax on Vehicles
{c) Sales Tax, Stamps and Registration charges, State Excise Duties
(d) Stamps and Registration charges, State Excise Duties, Other Taxes
Which of the above statement/s is/ are correct ?

(1) Only (b) (2)  Only () (3)  (0) and (d) (4)  Only (d)

61. SHTEN hHU TTZAMER g Toamel .
(1) VFEE I e
(2) S Ffyw yOG SEEEn fer
(3) SrmHEA TR W fer e
) et FRE R
According to the theory of demographic transition in the second stage there is
(1) rapid growth of population
(2) population remains more or less stable

(3) rate of population growth remains stable

(4) none of the above

THoAT HIATHIG! ST /SPACE FOR ROUGH WORK PT.0
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62. TG TH T, TEWE WA TA0N I Hfid 94 2015-16 &1 AqET T @t
o T @ (v0ar) 0ftn g Famaet quah YR (feaom) Suife.

TWASIH R 9 FET ) ?
(1) T 262,53 fgaw (2) T 242, 60 fmw
(3) T 324, 44 feaw 4) T 370, 50 feag

One of the following alternatives shows : the cost of generating one day of employment
%) and average employment per household (days) respectively for the year 2015-16 related
to the MGNREGA Scheme for the State of Maharashtra. .

Which one of the below statement is correct ?
(1) T 262, 53 days (2) ¥ 242, 60 days
(3) ¥ 324, 44 days (4) T 370, 50 days

63. Y FIHRETE I GISIGIE! IO T T FEER! FRE (FRL) U@ S0 2

() I W, oS (b) FAEH, T
(c) T (d) ufe=m s
GIASTHT FHI IT TAET 38 ?

(1) X (a) (2)  (a). (b) 30 (c)
(3) T (b) (4) HH (d)

Which of the following states adopted Fiscal Responsibility Legislation even before the
Central Government ?

(a) Uttar Pradesh, Punjab (b) Karnataka, Kerala
{¢() Tamil Nadu (d) West Bengal
Which of the following answer is correct ?
(1) Only {a) (2)  (a), (b) and (c)
(3) Only (b) (4)  Only (d)
64. TRiSHTEN Fatem ceame) (1981 1 2012) WG W@ LI SARAAEHE X .
(1) 3.5% (2) 59% 3) 57% 4 42%

The average GDP growth rate during the later phases of planning 1981 to 2012 was

(1) 3.5% 7 5.9% 3y 5.7% 4)  4.2%

\
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65. 'AEfIS TENd o’ A WO Hed e ¢

(1) WEfaFa

(2) TaaeEa

(3) whatfre (o= frag e
(4) ot @@

‘Universal Basic Income’ has following coniponents :
(1) universality

(2) unconditionality

{(3) agency (respect for recipient’s choice)

(4) all of the above

66. 2004-05 THfie HESITT SUsHi=l SEAHEER Ta3 s yafaromed g« 3uwd dom
(1) e s fFeada
(2) gt 9 Ty HEAnT e
(3) RS ITHEAHE Gl GEhd R H
(4) 9@ T 3uEaN

According to results of PSE’s in 2004-05, PSEs show much better results in new economic
environment due to.

(1)  Grant greater autonomy

{2) Reduction of bureaucratic and political control
(3) Infuse Private Culture in PSE's

(4) Al the above measures

67. W WIS MR P @EelR T 3R AR 7
(1) 9t ST a
(2) TR SHfmed T8
(@) Ao e I faumar st T
(4) =0
Which of the following are the objectives of economic planning for the agricultural
sector 7
(1) increase agricultural production
(2) increase employment opportunities
(3) reduce inequality of incomes in rural area
(4) all the above
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68. SiE @I
qNet - 1 qrer - 11
( AT HistT ) (3fgEw)
(a) WHFHAD 1 Frer (i) TRET TERS i Todst g
(b) T g (i) = Taa Fa=g anfiie SR guro
(c) WYHA ISAST G (iti) AR SOl fagdiem
(d) Isae feqshm AYHATH qre (iv) H&d I gafda o fawm
T 39

@ () (o (d

L O @ 3§ (i)

(2) G ) @) @)
() ) @@ (@ @)
) Gv) (i) () )

Match the following :

List - I List - II
(Government Scheme) (Objective)
(a) Pradhan Mantri Mudra Yojana (f) to provide LPG connections to BPL
households
(b) Saubhagya Scheme (i}  to enhance financial health of
electricity distribution companies
tc) Pradhan Mantri Ujjwala Yojana (i) universal household electrification
(d) The Ujjawal Discom Assurance (v} to develop and refinance micro
Yojana industrial activities

Answer options:

(@ (b) (o) (d)
M 6 G G )
@ G @ @ @)
B) Gv) () @ ()
4y () ) @)@

HEE HIATHIS AR /SPACE FOR ROUGH WORK
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69. I AT T Zod fohell TIYEN WG 2R, ST $2 3 ST T 3T,
{1y 20.33 © (2) 50.33 (3) 40.33 (4) 33.33
If deprivation score is percent or greater, that household is multidimensionally
poor.
(1} 20.33 (2) 50.33 (3) 40.33 (4) 33.33

70. Hfgw dor B I FramE HR0 F SR FEHT dF o 39 fraw g,
(1) et e (2) O g
(3) W HEY® @) =

The monetary policy refers to a regulatory policy where the Central bank maintains its
control over the

(1) Public expenditure . {(2) Supply of money
(3) Tax revenue {4)  All the above

71. e R fRToTFdl FEWRERET S STorl iR et SR fauT a
e ?
(A) SR AR R0 & e I 8T W WEkia w1 g i s,
(B) < R foRo & Anfiga S oo W wrEfdd e @ steer SHia .
Trg g fae |
(1) o (A) sufn (B) I 6 ILa.
(2) ToYR (A) ¥ W (B) 319 3.
(@) Taum (A) 3793 35 (B) ¥ IR
4) faum (A) 9 (B) A= HEHT IR

Which of the following statements is correct according to the laws of reflections for drawing
ray diagrams of a concave mirror ?

(A) If the incident ray is parallel to the principal axis then the reflected ray passes through
" the focus.

(B) If the incident ray is passing through the focus then the reflected ray is parallel to
the principal axis.

Select the correct option :

(1) Statements {A) and (B) both are correct.
(2) Statement (A) is correct and (B) is wrong,
(3) Statement (A) is wrong and (B) is correct.
(4) Statements (A) and (B) both are wrong.
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72. SR 0.3A IO fSRAUN 4180 T SHeA T FSORA U MAfermmdt warfed F3 W frdt
Fo 3o fmiw 2w ?
(1) 240 (2) 540 (3) 418 4) 60

Find the heat generated in calories if a current of 0.3A is passed through a coil of resistance
4184 for one minute.

(1) 240 (2) 540 3) 418 4) 60

73. A TS e

(a) WL T (i) TorgavRER gawe fAfdl
(b) ISt 3w (i) o W
(c) T IS (i) werre fafEo
(d) RS HE (iv) fasga wftrardie 0y
(v) foga e

Tt 3

@ ® © @
O @ @) @0
@ @) Gv) 0
@) @) & @
@ @@ (v) Gv) @)
Match the following : .
(a) C.V. Raman (i) Magnetism due to electric current
(b) George Ohm (ii)y  Electric Motor
(¢) Hans Oersted (iii) Scattering of light
(d) Michael Faraday (iv) Resistance in an electric circuit

(v)  Electric current
Answer options :
(@ (®) © ()
1 @) @v) @ @
@ G @) 60 @
@) G &) @ [

@) @) (v) G@Gv) (@)
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74, HEHURO GF JTHEEAWST T I

(1) CoHanuo (2) CyHp

(3) C.Hay (4) TheTR PR A

General formula of alkynes is .

(1) CnHzmz (2) CHy

(3) C Hy s (4) None of the above
75. She ol

I II

(a) Tewsfiorse (i) CuCO, Cu(OH),

(b) HEREE ) ALO, xH,0

(c) HowEe (iliy ZnCO,

(d) FHE (iv) FeyO,

(v) FeyO

(vi) CuFe5,
(vii) NagAlF,
(viii) ZnS

g 3

(@ () () (d)

M @ V) (vi) (v

@ i) Gv) @) (vii)

G) i) ) @ i)

(4) (i) (i) (vii) ()

Match the columns :

1 I1

(@) Cryolite (i CuCO, Cu(OH),
{b) Magnetite (iiy ALO; xH,0
(c) Malachite (iii) ZnCO,
(d) Sphalerite (iv) Fej0,
(v) Fe,O4

(vi) CuFe5,
(vii) Na,AlF,
(viil) ZnS

Answer options:

@ (b (© (d

() (@) (v) (vi) (vii)

(2)  (vii) (iv) (@)  (viid)

(@) (vi) (v @ (i)

(4) (vi) (vi) (vii)) (i)
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76, TOREFMMY ___ FqF @Een
1) TS, o @) Ties fea
(3)y < defaw (4) TREE
The Discoverer of electron is :
(1)  Sir J.J. Thomson (2)  Gold Stein
(3) James Chadwick (4) Rutherford
77. 407 g e
SiATE ARaest vt HefET ST g ?
(a) UAA, UGA, UGC (b) UAG, CGA, AGC
(c) UGA, UAA, UAG (d)  CGA, UAA, UGA
gt sy
(1) (a) 3000 (b) (2) & (a) (3) W () &

Select correct answer.

Peptide chain termination occurs with which codons ?

(a) UAA, UGA, UGC (b) UAG, CGA, AGC
(¢} UGA, UAA, UAG (d) CGA, UAA, UGA
Answer Options :

(1) (a) and (b) (2) Only (a) (3)  Only (q) @)

(d) and ()

HeeAl THIFFETEE AT /SPACE FOR ROUGH WORK



A 37 | H11
78. WiFOAH Fom faur qra 3R ?

(@) < WidtaHet gk S ST IO .

(b) I FfEH IFT TGE A1 AN SHSES .

() SR ST 9 ST SRE weo .

(d) T faewmdE § amm: fHel sia o .

Wﬁﬂ I
(1) {c) B (2) (b) 3T ()
(3) (a) B : (4) (a) 3T (c) T

Which of the statements given below is/are correct ?

{a) Taenia solium is called as Hookworm.

(b) Fasciola hepatica’is commonly known as liver fluke.

(c) Ancylostoma duodenale is also called as Tapeworm.

(d) Nereis chilkaensis is commonly called as Ragworm.
Answer Options :

(1) {c) Only (2) (b) and (d) Only
(3) (a) Only (4) (a) and (c) Only

79. A Tt AR seesdn

(1) EERTRI FH (2) T W

(3) SR (4)  sforme =T
Brunner’s gland occurs in :

(1) Submucosa of ducdenum (2) Submucosa of stomach
(3) Mucosa of cesophagus (4) Mucosa of ileum
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80. TTEYCTSAT SO T SIOR T WewrE yfin T grea ?

(2) TR W (b) A SRR

(c) TR TR (d) TR forsre

FhetE! FIR faum/faum slEw amRa ?

1)  (a) F (@) (b)) ™

() (), (b) 3T (c) FFa (4) (@) (b), (c} (@)

Which chromosomal characters play important role in classification of plants ?
(a) Number of chromosomes (b} Morphology of chromosomes

{c) Size of chromosomes (d) Aberrations in chromosomes

Which of the given above statement/s is/are correct ?
(1) (a) only (2} (b)only
(3) (a), (b) and (c) only ) (a), (b). (o). (d)

§1. WIS S O T Faed e, faso fafddt st Wy #S Tmam.
1) SEEE ) HEwEm (3) 3rTgwESI (4) STETsist

Which of the following plant groups has vascular system, produces spores, but does not
has seed ? ’

(1) Bryophyta (2) Pteridophyta  (3) Gymnosperms (4) Angiosperms

§2. 'O sorgd IE QLA AEH Meme IO TG TY Woeys! Sk e Sfad st
FRUMYA & ?

(1) HEEHEN §Fhe (2) TEEET wE

(3) 3y FAsier (4) FE2TIFET

The plant disease “Late Blight of Potato” is caused by which of the following organism ?
(1)  Phytophthora infestans (2) Pythium Species

(3) Albugo candida (4) Colletotrichum
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83. WWH WGiTH, FHTEY WG] SV T o WU e 3R ?

1) “RufrdFTe e O, tuaeas Gagl O 9 JUHe Fagt I

2) ufrdEe wad I, TINHEe €3t 3% 9 UeEe Gag A%

3) THEiddhre ot I, TRigdne Wadt 3% 9 tfuddhe Fag 3%

4) =T FaE I, THIee §9d W 9 ageAay Wag IF

In Mammals, structurally the sense organs take which one of the following three basic
forms ?

(1) Neuroepithelial receptors, Epithelial receptors and Neuronal receptors
{(2) Epithelial receptors, Endothelial receptors and Neurological receptors
(3) Mesothelial receptors, Endothelial receptors and Epithelial receptors

(4) Neuronal receptors, Epithelial receptors and Cutaneous receptors

84. Togey fomfaa Sy aufor Sewem R demie/swae 39 GNS S,
(1) T gwam (2) e gt (3) fofesdts d@t  (4) oot gun
The infections which usually develop slowly and are long-lasting are known as
infections.
(1) chronic (2) acute (3)  systemic (4} latency

85. T T ¥F THF Haal qiAw UL _ Tl HGET A,

(1) Hifgeen (FFAMET Savka vm) (2) &=

(3) W (4) Sroade JEa
Sensory nerve cells called Rods and Cones are found in

(1) Cochlea (2) Dermis

(3) Epidermis (4) Retina of the eye
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mmrm@ﬁawaﬁaaﬁyaz%ﬁmam

0@

699 (2) 998 8aY 4) 946

Fmd the value of Y and Z respectively after 1dennf}mg the rule in number arrangement.

) Cp) G G

(1) 6and9 (2) 9 and 8 8 and 9 (4) 9andé6

87.

THHHeE T 90T X F Y § QA TR U TUR 3R, 1 TS 93 et mfd
HHHEI.

T X gH SRS 3GA 9 Y U S9aihe STE.

X 41 ¥l e faeg seed U@ ge e ore Taet o, gl e faeg swaedt g et
2t et R, e TeitE & fias 7 gal e e TR,

Y U B T TR faeg I Wl (A Traet o, g e faes 1o Wit
TIRFT W gEd el oTR. I e faeg ye SiEt F1 7 uigdl IR

XA T TS S Y X B T deee e w0 a9, X 3 fiee 7 Y ¥ auid s
TR 37890 W X ST el TomemR Jvmn Y s=r=an gg=n 11 fae.

(1) k= s (2) UM Hed AR qel

(3) R Wl @y Fifeaa = e T

You are having 2 cubes X and Y in front of you that are placed adjacent to each other.
Study the jnformation about these cubes that is given below :

Cube X is on your left side and cube Y is on your right side.

One of the opposite faces pair of cube X is painted red. Another pair of opposite faces is
painted blue and one of the remaining faces is painted yellow and other one is violate.

Only one pair of opposite faces of cube Y is painted blue. Another pair of opposite faces
has brown and green colour while remaining opposite pair has black and white colour.

If red face of cube X and blue face of Y are touching table, yellow of X and brown of Y are
facing you; then select the colour of face of cube Y that is facing blue side of cube X.

(1)  Definitely black (2) Either black or white
(3} Only white (4) Cannot be determined

e HIHETS! S /SPACE FOR ROUGH WORK
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88. TOHTYY WV MO JEteuml foeht aed. e Sl we 7 A, STe. @ i 9 i
Tl TR O Se, o 9 WS AwA e Aegan! e, SR e, S vt
i 9 IR I SR YRGS St e, I SiEgas! o e Th Sl qeevn
g Frae.
(1) et TG 3T (2) 63
(3) 56 (4) 42
Measurements of lizard like animal are as follows. Its head is 7 cm long. Its body length
between the head and the tail is equal to the head plus tail. The tail length is equal to the
head plus one half of the body length between the head and the tail. Select the option that
indicates total length of the lizard.
(1) Information is insufficient (2) 63
(3) 56 (4) 42
89. feoean dWem aifehdies g 7R e,

6, 24, 72, 240, 726

1) 24 2) 72 (3) 240 @ 72
Identify the wrong term, in the given number series :

6, 24, 72, 240, 726

(1) 24 2) 72 (3) 240 @) 726

HoAT WS FOM /SPACE FOR ROUGH WORK
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90. YEto Afedl Hsiga® w91 i faancen av e 3w o1

&0, e, from, Fow, Fam, oemm o gom @ 9 SE=AR Jorad P 13 Vi
TTOHGT A A 8 A, B, C, D, E, F &1 G 71 91 STl Meadre! s = fag
heH. srediEl U SHT Y FEE 30S I AR TS [V A Fowr §orad e A 9t S,
TR gorEd 99 1117 Sad 9n a1 C e D 918t 7. et qorad W= B 96 wet
e [ Tohe 11 g9t et fantaret gorae 99 Vi W@ E 96l 9ad. 999 VIEY W F AEt
AT HAe!. WSErd! gorEd U796 [ 7 Haet 90 W C 92T 7R 910 113 owqu! Jored gact
.

Y49 V 3 S Herad Sa 7
(m = (2) o (3) (4 g
Study the following information carefully and answer the question asked :

Seven candidates Hari, Samir, Nilesh, Shailaja. Nikita, Laxman and Sujata are interviewed
for selection as teaclier by different panels I te: VII for different school A, B, C, D, E, F and
G not necessarily in the same order of schools and panels. Nilesh is interviewed by panel
IV for school A. Samir is interviewed by panel Il but not for school C or D. Hari is
interviewed for school B, but not by panel I or 1l. Nikita is interviewed by panel VI for
School E. Panel VII conducts the interview for scheol ¥, Shailaja is interviewed by panel
[ but not for school C. Panel II does not interviewed Laxman.

Who was interviewed by Panel V 7

() Hari (2) Shailaja (3) Laxman (4) Sujata

91, A NEUSEA B A1 S YRUEHES A1 BEt AR ST aTea, Avdtes fasi=n fadw P, Q 9 R sf
Tt e Fiden 1, 2 9 2 37 el o1Tef). dIGed BT A Q AP AR Sodrd. T A TS
P, 193 1 At IR Srat. S AT 19 Al a8 R ST wE 2l R0 Y Sl W g A IRE
FroT= Tl W 1] ST SO YIS ATk, S T 16wt 3THd A1 S are
afrorg F0F e I AW A el Sqes JHewl/ W Al e

1) wQ (2) WHEP (3) w2 (4) R 2 <=

There are six routes for reaching from town A to hill town B. Three of these are indicated
bv P, Q and R and other three are indicated by 1, 2, and 3. Route Q is closed during
slonny weather. Roules P, 1 and 3 are affected by floeding of one river. If route 1 is
osed, route R gets closed automatically as both are bifurcations of the single route from
A after some distance. Select the route/s which is/are available for transport when
weather is stormy and causes flooding of the rivers that affect the routes.

{1y Only Q (2) Only? (3) Oniv 2 {¢) R and 2 both

oA THIFHEG ST /SPACE FOR ROUGH WORK
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92, X p 0 g W WUEI 20 HR, q W0y F WEL 25 AR, p, q G y T WEH
23 3T, T p anfo y o wowdl Tt ade ?
(1) 24 (2) 19 3) 29 4) 25

If the average of p and q is 20, the average of q and y is 25, the average of f), qandyis
23, then what is the average ol pand y ?

1) 24 @ 19 @) 29 @) 25

93. Wy feer=n St v e 35 ?

7 1 2
1 6 4

(1) 45 2) 48 (@) 46 @) 47

Which number will replace the question mark ?

7 1 2
e
1 6 4

(1) 45 (2) 48 (3) 46 @) 47

94, Tfgew &M UEHgel W ey 3TR, 69 98y faw=n anfor Sen v 1R, gy faeren fywmmn
a4 1qtg free,

$6:29::95: 2
1 30 @ 32 (3) 34 @ 36

The relation between third and fourth number is same as it is in first two numbers. Select
correct option in place of question mark.

86:29::98: 7
(1) 30 2y 32 3) 34 (4) 36

Tl HIHES 9RT /SPACE FOR ROUGH WORK PT.O
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95, st WA T aHTEdd Teora fafems vy aee s e Fiom fafay &5 grgaa,
-1, Ag-TSRm, fAwm-wTs, smEa-fed), fafme 1o smen- 3few
1 IfEdeR SMURE gagE s fHeen,

N

\

freemd :

(a) IR ST AR YT Seaia qu7 FTard [Aefed heed! I=e! 9T THet saeil sied e,

(b) ATE! S BRI g o Tedt s,

(c) & TS SISO St T Soard 9V S el fda) ST Siodr.

(d) T FIE ST MM 3= T AT GO A 3R 0T el SFA ek HUS S fEd

Ao
Tt I
(1} (a) e wehet Al (2) (a) T T
() () forma wwe e (4) I (b) T (d)

Accompanying image shows different areas that represent specific language speakers
residing in one colony. Arrow - Marathi, Circle - Gujarati, Triangle - Kannada
Rectangle - Hindi, Irregular - English. Select false conclusion/s based on this information.

|

Conclusions :

{a) Some persons do speak four languages but no one speaks all the five languages
mentioned in the list.

(b) Some persons speak Kannada and Hindi only.

{(¢) Though some Marathi speaking persons do speak Gujarati but some of these speak
Hindi also.

{d} There are persons who speak Marathi and other two languages but some persons
speak Marathi and Hindi only.

Answer options :

(1) None except (a) (2) All other than (a)

(3) None other than (c) (4) Only (b} and (d)

AT THIETETS S /SPACE FOR ROUGH WORK
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96. WSS ML ;: A1 fameren = A feowm 3 Teimed fafke day amg, d Jay ssaiwele
EF:15::KL: 7
(1) 23 ) 36 (3) 46 4) 66

There is some relationship between two terms at the left of : : and same relationship holds
between two terms to the right. Find out the correct alternative, in place of question
mark.

EF:15::KL:_?7
{1) 23 (2) 36 3) 46 4) 66

97. ufged 97 TgiHsd Sl WY TR, W= Wey a6 9 <iem 99| . Wy fa-erean et o S
¥ ?

122 :170::290: _7_
(1) 364 (2) 362 3) 323 4) 324

The relation between third and fourth term is as it is in first two terms. What Number
should replace the question mark ?

122 :170::290: _2

1) 364 @) 362 (3) 323 () 324

98. T Hishias WING VIDEO W8t VWREL Bl Hehd 2 31 CHAIR |6t RZSXI &1 §ahd 3T, T
BOARD I %55 ™9 Hishias YNd %41 fors ?

(1) YLZIW (2) 1ZLYW
(3) WIZLY (@) (1), (2), (3) ArHT FIVRE MR

In a certain code language, if VIDEQ is coded as VWREL and CHAIR is coded as RZSXI
then how will BOARD be coded in that code language ?

(1) YLZIW ) IZLYW

(3) WIZLY {4) None of (1), {2), (3)

oAl TS SR /SPACE FOR ROUGH WORK PTO
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99. W Ay faer &0 :

(a)
(b)
(c)

el € U 12 ° 6. 4 IO WA, TedR M0 e A feaeht o syee .
firelt T G T4 € WHAR, AR, YEHAR I faart 1. 10 9 g, 2 I T e,

At Hiet g A @ W9 4T 12 T WA, GYar onfon ear a4 feasit onfn
3. 29 H. 4 o7 Yoo YEHER, AR for TFaam A feaeh =il Sues sra.

fo=r afe =oren feash o ot a9ia1 vy = 219ama ?

M

(4)

TedR -3, 1291 9 A&ard g 124
TEER - g, 12 0. 9 faari g, 24
AR - 3. 2791 9 Wil g, 24

TeaR - T, 291 9 Waart g, 1291

Consider the following statements :

(@)

(b)

(<)

Kunda is available at home during 12 noon to 4 pm on Tuesday, Thursday and
Sunday.

Her younger sister Naina is available at home on Monday, Thursday, Friday and
Sunday during 10 am to 2 pm.

The eldest sister Jyoti is available at home during 9 am to 12 noon on Monday,
Wednesday and Thursday and 2 pm to 4 pm on Friday, Saturday and Sunday.

On which day and at what time, all the three sisters are available at home ?

(1)
(2)
(3)
(4)

Thursday - 12 noon and Sunday - 12 noon
Thursday - 12 noon and Sunday - 2 pm
Thursday - 2 pm and Sunday - 2 pm

Thursday - 2 pm and Sunday - 12 noon

el THIHTEIS AN /SPACE FOR ROUGH WORK
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100, 7 foeTil T e Hgaa Fearal Hifgd 215 ;
A, B,C, D, E 3 F ¥ 958 9 €1 SireW 3 7% ved Fo, fag, 17w, o, & 9 4
i fafim woaren fad ot S, Twet 36T 9 SR o O fodie y&d & I1L C, ST E =}
T 9, foe s wala I sEEd. B, |l D W sifsaifed gom o, @ g frde wea e
F¥ A ¥ THAS 3R, v9@! g1 Tidt=l Aew™ <ad Ao e 270 F &1 §3 Heeq el A &
T faum fael
faum :
(@) D ¥ favry oda &< nfor /@ A 91 Jom TR,
() Ew ol sam 759 95 IR,
(c) C 7 qom g% 2o 8.

Wﬁﬂ 3?ﬁ‘ H
1) (a) Q0 d (2) (a) BT TFI R
(3) ()9 (O T= 4 (@3 o)

Study following information about the joint family comprised of three generations.

A, B,C, D, E and F are members with two married couples and each member prefers
distinct fruit amongst banana, chiku, pineapple, figs, guava and orange. None of the
male member prefers either figs or guava. C, who is daughter in law of E, enjoys pineapple
most. B, who is unmarried son of D, prefers chiku. F is a grandchild of A, adopted by 2"
generation couple and F does not like orange. Person A prefers figs and has a spouse who
prefers banana. Select statements from following set which are not true with respect to
this information.

- Statements :
(a) D prefers orange and is not a son of A.
(t) Eis definitely a male memnber of the family.
() C has adopted a girl.
Answer options :

(1) All but (a) (2) None but (a)
(3) Both (a) and (c) (4) Both (a) and (b)
-00o0-

HeAT HUMIG T /SPACE FOR ROUGH WORK

P.T.O.



H11

48 A

Al — (7 1 a&7 qe....)

@ TAYfasasd fafen o fafire srfe +=1 =m ( o%) F08. Teyfcseafale srofsar @
T FPRER FH FM FOAE 1 HY HArE] I Fo AR, T AHS IRG 9 ATER IR
WEAR IR e ' alrgimed Bomen TR Waey S StufTen-82 ' e gy e
Fogd FES 3 S KA TS Uk gatel] HRETErE Nt/ fhar T8 T gei e feren fndg
A B

©) TR TR o fafa Fod 9% dIEHT SHEER B TR TiEe A At TR
YT SOITH YEET R, W UAEIR GTaTE SOy IHEaR WTear STiTh e Wi- 1
THAAFHTHES 7 R G S0l STayas O

. . 201,

. %. 201,

kil Al
At 91 T2 FOITEE] HIU g TaE o 2
(1y O gaEE WEad (2) FvaER T
(® T IO O (@) TEFS Ee

& IR A 3 (3) T THEeT T o) AR, e O TEm Iw ' (3) e A
GIRATIHIG F¢ 3. 201 FHE ST-FH 1 (3) " ¥ a4 T DEifha e waias e
.

ONON MO

3 TEAM W TEYfEade Ja® TeEl {I SO-F 8 gRie maaden e

IAWHAFIIS ™ A THUise Gefad ade 090 BEifed Hed SEwE.  genitar
Thed TG YIS Ao’ A, Ufgs o7 v U9 aue R,

ST RIS AT /SPACE FOR ROUGH WORK



